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1. BEEBEOE
(1) BEINE
ZmMaE
=% 100,000 126,000 -26,000
ERBR 11,440,000 12,240,000 -800,000
EE g
e meE 3,425,500 4,020,000 -594,500
Hhig RN & 0 0 0
REIRA 250,000 350,000 -100,000
e FINE
OB EE 0 0 0
HURA
ZEFIR 0 0 0
HURA 100,000 0 100,000
FEUEEET 15,315,500 16,736,000 -1,420,500
(2) BEER
ES Sy
E= 1,311,000 1,439,450 -128,450
REE 543,000 1,984,000 -1,441,000
HERE 105,000 215,500 -110,500
FIRIE A& 2,289,500 3,096,200 -806,700
BIEEWRE 1,587,500 662,400 925,100
BimENE 0 0 0
LitE 505,000 500,000 5,000
Bk 3,136,000 2,346,000 790,000
ERE 390,400 715,800 -325,400
HERERE 30,000 20,000 10,000
B & 65,000 39,500 25,500
fiEd 60,000 326,000 -266,000
HE 55,000 72,000 -17,000
e E 0 0 0
ERE
WwE5FH 1,400,000 1,300,000 100,000
=& 628,000 225,000 403,000
REE 40,000 510,000 -470,000
HERE 100,000 135,000 -35,000
ENRIS A 220,000 160,000 60,000
RIEEMRE 1,352,000 1,420,000 -68,000
EitE 42,000 50,000 -8,000
Bk 0 0 0
ERE 730,000 715,000 15,000
SEKE 30,000 36,000 -6,000
HERERE 150,000 150,000 0
HNE 100,000 170,000 -70,000
=Fi=k 143,000 0 143,000
HE 170,000 170,000 0
HEx 0 0 0
BEER 15,182,400 16,457,850 -1,275,450
LR EEEE 133,100 278,150 -145,050
2. BEIMEBDOE
(1) BESNNE
BENMRIEE 0 0 0
(2) BENER
BRENERE 0 0 0
LR R SR AE 0 0 0
L5 HA— AR IF R BA EE ISR AR 133,100 278,150 -145,050
—RIERBAEHEES 1,230,450 952,300 278,150
— R EGREAERRES 1,363,550 1,230,450 133,100
I IEEERREEREBOIER
L HAYE T IE R BA EE ISR A 0 0 0
EEERMENE RS 0 0 0
EEERMERARES 0 0 0
I ERBHEHRES 1,363,550 1,230,450 133,100




